Qg

@
® . .
4 WSERFEILCC LABMASTER?® | Filtration System
{ ﬂ"éﬁ ©2013 Serfilco Ltd, Al right reserved.
2900 MacArthur Blvd. Northbrook, IL. USA 60062 WWW.SERFILCO.COM (800) 323-5431 P/?)F(%)gs LIST
Tl/OSIJE%Y
Page 1 of 1
NO DESCRIPTION QTY| CPVC PP PVDF
1 'L'Filter Chamber 10" 1 | 78-0240-AC | 78-0287-AC | 78-0467-AC
(P-9700 parts list) 20" 78-0241-AC | 78-0288-AC | 78-0468-AC
30" 78-0242-AC | 78-0289-AC | 78-0469-AC
2 Nipple 3/ANPT 1 33-1005 33-1005-PP | 33-1005-K
3 Elbow 3/ANPT 1 33-0993 33-0993-PP | 33-0993-K
4 Adapter 3/4ANPT 1 | 88-3582-C |88-3582-PP| 88-3582-K
5 O-Ring EPDM 2 22-0906
FKM 22-0906-V
6 'AMAG'Pump 115V/1/50-60Hz | 1 44-1372 44-0852 44-1367
(P-2700 parts list) 230V/1/50-60Hz 44-1373 44-0858 44-1368
7 Bolt 1/4-20x1" SS 2 11-0415
8 Washer 1/4" SS 6 11-0121
9 Whizz Nut 1/4-20 SS 2 11-0103
10 Bolt 1/4-20x1 1/4" SS 4 11-0390
11 Hooded Base PvC 1 77-0490

Product Bulletin: | F-203
Operation and Service Guide: | O-0390



/pdfs/bulletins/F-203.pdf
/pdfs/liturature/O-0390.pdf
/pdfs/liturature/P-9700.pdf
/pdfs/liturature/P-2700.pdf
/contactus.aspx
http://www.serfilco.com/
http://www.serfilco.com/

